P.1




P.2

I




X2

L1564 X 2

A M5x42

75 PCS

B @15x10

i

75 PCS

C Mb5x40

28 PCS

D M3.5x12

V

50 PCS

E M3.5x14

¥

28 PCS

F @6

8 PCS

I @22x1

75 PCS

1PCS




P.4

I

This Cam Lock Fastening
System will be used
ughout the assembly process

thro




Vi P s

Slides Must Be Separated Before Assembly.
After Separated, Set Aside Until Needed for Assembly,

STEP 1: Extend Slide

STEP 2: Push Lever UP

STEP 3: Remove Runner




P.6

A M5x42

@

13 PCS

D M3.5x12

¥

8 PCS

¥

!

1
! !
Qo G 2 (Eo o [fzi-f

+
o OOOE




P.7

A M5x42

@

13 PCS

D M3.5x12

¥

8 PCS

!

f

} !
2 f=o Ez- [=*-f

|

¥

Gesolp | e Ee Bl




P.8

A M5x42 (D M3.5x12

i |7

7 PCS 4 PCS

! !
T++=) -=39 =9 J{21)==0)

A M5x42 | D MB3.5x12

i |7

6 PCS 4 PCS

! !
1459 =55 =28 T Q1) ==¢)




I

P.9

B ©15x10

i

13 PCS




P.10

B ©15x10

13 PCS

I




P.11

B ©15x10

13 PCS

I




P.12

I




P.13

A M5x42

@

12 PCS




P.14

B ©15x10

12 PCS

I

10




I




P.16

E M3.5x14

¥

28 PCS




P.17

D M3.5x12

2 PCS

I

13




P.18
F @6
&

I
4




P.19

I

15




P.20

I

16

17




P.21

L

G M3.5x14

I @22x1

@




